= ==y m = ¥ 5
R igasE (B3
(TIENEIFES)
SF44E TH22A (&HEA) H o F R & X & #
FET| 2, Lk . FEIS N Mk ;
i z Hh A il iR g3 Ei i il B A5 %% i i
% S | EA | ATR| G i ZiE | #A o L % o PEHNAL | ATEEE | S P #E | ®A e R
b HiEF | 0.1 108 ~ 76 |o1 K ra
Kig
o o6 | 2316 ~ ~ |0 k| 0k | wRe
AB
## | 6.0 | 3,024 | 2,700 | 1,296 | 10 k| #h | mEa .
Foh | BiKE | 0.3 162 108 54 |01 k| ®h | aEE
%5 =i | 5.0 | 1,620 e 540 |10 k re SRVATA IR | 0.1 | 2,700 ~ 1,080 | ' k| & BRE
3352 B | 0.1 | 1,404 ~ 1,296 kK| 10® | BRS
i B or {1208 ~ 972 |2 «| & | ma i HiKF | 03 | 1,620 ~ | 1,080 |5 « BRE
o
&IfF | 3.0 | 1,080 | 756 324 |10 k| &®h | RE
Ax 8% [ 3.0 | 1,404 ~ 1,188 | 15 k| #h | BEA
B | 2.0 648 ~ 324 |10 k| @h | BRS
Fpely Ky | 10.0 | 864 ~ 648 |10 k| ®h | BRE =R | 4.0 | 2,808 ~ 1,620 | 10 k| Bl | ®&&
R% | 2.0 864 ho| BR B
2 ~ 10 k| F &
TY—rR—v 1,850
2 0.8 ~ 3 k| 20% | BRE ES 1
Hhx =R 1,944 648
v | 6.0 | 3,672 | 3,240 | 2,160 | 2 «| ®mh | RE
HK | 0.3 3 k| #h | BRE
Ahx = uﬁ 1,080 | 972 540
HE IR o~ 540 ~ |20 % - w/iE [ L0 540 ~ 324 |1 «
izt = [ 0.5 | 4,320 ~ 1,080 | 5 k| @®h | R& g | 1.0 ~ 2,160 ~ 4 k| EEE
roxi =y 3.0 ~ 27 ~ 01 k
NJR 5.6 | 1,620 b 648 L b5 H =g | 06 | 1,728 . 648 3 k| #h | RE
T =g | 2.1 ~ 5 k L
o 7 1,620 648
20 | L2 864 ~ 324 BRE
= IR 10 k
HEMEL | wov 16 | 1,080 R 324 BES
KIRZE BIg 1,080 ~ 648 208 | RS
=1l : ~ 7 &
S =i | 06 | 1,728 648 |5 «| mnh | & ,.
2o = I 2,160 ~ 1,080 0% | RE
i 2.5 11,188 ~ 648 | 4 & BRE
= Ik
k=t
Koy 1.5 | 1,296 ~ 756 | 4 & RE N = IR 864 = 648 0% | Re
R K3 i ~ 1,620 ~ 10% | #RE
) i 15 140 108 86 |02 k| ®h | BRS FHib R | 0.1 86 ~ 54 |02 k| ®h | BR&
. /NG A 10 kK Foy U = I ~ 648 ~ 10k | R
v—< =
L 82 | 3,348 ~ 1,620 | 10 & BEA
RE—<v Ek | 02 [ 5940 | ~ | 1,080 |10 L D
me | 37.0 t | WAWE | 1119 t




